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QUESTION 1

A developer creates a new FlexCard to display customer data and actions, such as updating billing information and
changing the contact for the customer account. The FlexCard contains 10 fields and 5 actions.

During testing, several fields display with the correct data, but one of the fields shows only the label.
What could cause this?

A. The fields have exceeded the maximum number allowed on the card.

B. The field is null 0 the Salesforce record.

C. {recordld} us misspelled in the Data Source Input Map.

D. There are no test parameters configured.

Correct Answer: B

QUESTION 2

What should a developer\\'s first step be when troubleshooting whether a DataRaptor Extract is retrieving data?
A. Go to the Lightning Console and reload the page to test.

B. Go to the PREVIEW tab In OmniScript to test.

C. Deactivate the card and layout, and go to the PREVIEW tab for the card to test.

D. Add a key/value pair in the DataRaptor to test it.

Correct Answer: D

QUESTION 3

A developer need to use the CONTIF function to process data entered by the user in an OmniScript. The output of the
function needs to be displayed to the user immediately in the current step. Based on best practice, what element should
the developer use this function in?

A. A Calculation Action element

B. A Set Values element

C. A formula element

D. A Range element

Correct Answer: C

OMNISTUDIO-DEVELOPER PDF Dumps | OMNISTUDIO-DEVELOPER VCE Dumps | OMNISTUDIO- 2/11
DEVELOPER Practice Test


https://www.certbus.com/omnistudio-developer.html
https://www.certbus.com/omnistudio-developer.html
https://www.certbus.com/omnistudio-developer.html
https://www.certbus.com/omnistudio-developer.html

www.CertBus.comin 4 https://www.certbus.com/omnistudio-developer.html
CE RT T | 4 2024 Latest certbus OMNISTUDIO-DEVELOPER PDF and VCE dumps
U | Download

QUESTION 4

A developer is creating an OmniScript that provisions trail orgs to their customers. The following text block in the
Omniscript uses a merge code to display the ID for the new trail org:

i i | i i |
| Welcome to Salesforce! ||| | | it it
Your ID s ADecatle :Customer) 0 1Dy '
Puring testing, the developer notices that the 1D does not display. The data JSON s structured as shown below
How should the developer correct the Mmerge code in order for the 1D to display?

PetallaTr

A. To %sDetails: Customer|0: ID$
B. To %Details: Customer|1: ID%
C. To %%sDetails: Customer|0: ID%%
D. To %Details: Customer|n: ID%

Correct Answer: B

QUESTION 5

Users receive an APEC CPU limit Exceeded error when running an OmniScript in a Salesfoce Community. The
OmniScript includes an Integration Procedure that contains two DataRaptors.

Which two Location should the developer check to troubleshoot the issue?
Choose 2 answers

A. Script configuration

B. Community logs

C. DataRaptor configuration

D. Action Debugger

Correct Answer: CD

QUESTION 6

In a calculation procedure, what is required for the output of a calculation step to be used in an aggregation step?
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A. It must be included in constants.

B. It must be a matrix lookup step.

C. It must be a calculation step.

D. It must be included in the calculation output.

Correct Answer: D

QUESTION 7

A developer is creating a FlexCard for a new Community page. The FlexCard will display case information along with
actions to close the case and update the case, and it will be styled using the Community\\'s theme.

What must the developer do to configure the FlexCard for deployment in a Community?
A. Set the Deployment property in Card Configuration to "Community"”

B. Add the FlexCard\\'s API name to the FlexCard Player component

C. Set the Target property in Publish Options to "CommunityPage"

D. Configure the Component Visibility in the Custom Component

Correct Answer: C

QUESTION 8

Refer to the exhibit below.
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What is the reason that the fields fail to display the fetched data?

-
1}
|

i

il
P

A. Lookup Mode is selected in the properties of the Type Ahead Block.

B. FirstName, LastName, and BirthDate are not placed inside the Type Ahead Block.
C. The typeHead key is not in the correct format.

D. Use Data JSON is Not selected in the properties of the Type Ahead Block.

Correct Answer: B

QUESTION 9

On a FlexCard canvas, several fields display with Salesforce data, but one of the fields shows only the label. What could
cause this?

A. In the Setup Pabel, {recordld} is misspelled in the Data Source Input Map.

B. The field name in the FlexCard state does not match the DataRaptor Extract\\'s Output JSON Path name.
C. In the FlexCard state, the Field type for the field does not match the type in the Salesforce record.

D. There are No test Data test Parameters configured.

Correct Answer: B

QUESTION 10
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A developer needs to display read-only contact information in a OmniScript. The developer will format the information as
a table, using merge codes to dynamically include first name, last name, street address, state, postal, code, and country
from the data JSON.
Which OmniScript element should the developer use to meet this requirement?
A. Rich text Area
B. Text area
C. Text Block

D. Edit Block

Correct Answer: C

QUESTION 11

Refer to the exhibit below. What JSON from the DRGetContactDeteils action would display all six values correctly in the
shown? BlkCases is a Repeat Block, and the names of the elements are the same as the label names without spaces.

OMNISTUDIO-DEVELOPER PDF Dumps | OMNISTUDIO-DEVELOPER VCE Dumps | OMNISTUDIO- 6/11
DEVELOPER Practice Test


https://www.certbus.com/omnistudio-developer.html
https://www.certbus.com/omnistudio-developer.html
https://www.certbus.com/omnistudio-developer.html
https://www.certbus.com/omnistudio-developer.html

www.CertBus.com

CERTBuUS

https://lwww.certbus.com/omnistudio-developer.html
2024 Latest certbus OMNISTUDIO-DEVELOPER PDF and VCE dumps

Download

\ %J i1 .'..'-'l' ' .

' |"

OMNISTUDIO-DEVELOPER PDF Dumps | OMNISTUDIO-DEVELOPER VCE Dumps | OMNISTUDIO- 7/11
DEVELOPER Practice Test


https://www.certbus.com/omnistudio-developer.html
https://www.certbus.com/omnistudio-developer.html
https://www.certbus.com/omnistudio-developer.html
https://www.certbus.com/omnistudio-developer.html

www.CertBus.com

CERTBus

https://lwww.certbus.com/omnistudio-developer.html
2024 Latest certbus OMNISTUDIO-DEVELOPER PDF and VCE dumps

Download

.'” '||| '-.||II|I.|- s
'| .. i { II fll‘:q.ﬁi,

j | _1|!|.|| Il|||.|| - 1 11 P 1
] | il 1 | t 1' I 'j' 'it i
] I i ' | ]'I Il :ll I|| I| III 3 Jlrlf&t?‘;1}h1r§1¢!' 2t .r

A. Option A
B. Option B
C. Option C

D. Option D
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Correct Answer: A

QUESTION 12

Why would a developer clone an Integration Procedure instead of versioning it?
A. The new Integration Procedure uses a Cache Block.

B. The new Integration Procedure it replacing stub data.

C. The new Integration Procedure will be used independently

D. The new Integration Procedure is Chainable.

Correct Answer: C

QUESTION 13

A developer has an existing DataRaptor Load that insert Contact records with inputs as LastName and firstName. The
DataRaptor works as expected when previewed.

The developer creates an integration Procedure to test the DataRaptor and is using a SetValues element in the
Integration Procedure to set the first name and last name for the contact record. The DataRaptor and Integration
Procedure are set up as shown in the exhibit below.

drLoadContactData h\.

When the developer executes the Integration procedure in preview, the following error message displays: Required
fields are missing: [last Name]\\'\\', How should the developer address this issue?

A. SetValuesContactDetails should have been added to Additional input of DataRaptor Post Action in Integration
Procedure

B. The Set values Action Keys should include the DataRaptor Post Action element name path, e,g LoadContactDetails,
lastname

C. The DataRaptor Post Action in the integration procedure should have been executed before the Set Values Action
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D. The valid field names should be added in the Domain object field in the DataRaptor

Correct Answer: A

QUESTION 14

Refer to the exhibit below. In this Integration Procedure structure, what Send JSON Path would you use to send the
output of the ActionZ element to a Response Action?

STRUCTURE
Procedure Configuration

v BiockX

v BlockY

B et e ai b i

ActionZ

A. BlockX.BlockYActionZ
B. ActionZ:BlockY:BlockX
C. ActionZ:BlockY:BlockX
D. BlockX:BlockY:ActionAZ

Correct Answer: D

QUESTION 15

A developer need to configure a calculation procedure to calculation a subtotal using two different depending on
whether the input Boolean variable is Customer is set to true or false.

How should a developer configure the calculation procedure to conditionally execute the correct formula?
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A. Use two separate Calculation Steps with the Conditional Step property selected: use the ISTRUE(isCustomer) and
NOT (ISTRUE) (isCustomer) functions in the Condition syntax.

B. Use two separate Calculation Steps with the Conditional Step property selected: reference just the isCustomer
variable in the Conditional syntax (no comparison necessary)

C. Use two separate Calculation Steps with the Conditional Step property selected: compare the isCustomer variable
directly to the literal true and false values in the Condition syntax.

D. Use a single Calculation Steps with IF statement directly in the formula definition to reference the isCustome variable
and conditionally perform the appropriate calculation.

Correct Answer: B
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